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Topic : Multiplication. 

 
A.  Fill in the blanks : 

1. 2 X          = 16 
2. 3 X 7 = ------ 
3. 10 X         = 10 
4. 5 X          = 40 
5. 9 X         = 54 
6. 6 X 5 = ------ 
7. 4 X 9 = ------ 
8. 7 X         = 56 
 
 

B. Multiply. 
 

1.           T  O                                                             2.    T   O 
          3   4                                                                      1   5 
         X    6                                                                      X   9 
        -------                                                                    ------- 
         
        -------                                                                    -------  
 
       
 
 
 3.         T    O  4.      T    O 

       1   8                                                                    1   3 
               X  5                                                                    X   7 

                    -------                                                                    -------  
                     
                    -------                                                                    -------  
 

          
 
 

5.       T   O                                                             6.       T   O 
             2   1                                                                         2   8 
             X   9                                                                         X   4 
            -------                                                                       ------- 
             
             -------                                                                      -------  
            
 
 

 



 
 

7.          T    O    8.       T    O 
       4   1                                                                    1   6 

               X  7                                                                    X   4 
                    -------                                                                   -------  
                      
                    -------                                                                    -------  

              
 
 

C. Solve the following : 
2 sums are done for you. 

 
1. Rishi has 4 bags of coins. If there are 8 coins in each bag, how many coins does Rishi have in all ? 

 
 

               Number bags Rishi has                                                                                             4 
               Number of coins each bag has                                                                             x 8 
                .                                                                                                                              -------- 
               . . Number of coins Rishi has  in all                                                                     3 2 
                                                                                                                                               --------- 
 
               Answer :  Rishi has 32 coins in all . 

 
                   

 
2. Ashar bought 3 packets of sweets . Each packet has 10 sweets. How many sweets does Ashar 

have in all ? 
 

Number of sweets packets Ashar bought                                                          3 
Number of sweets each packet has                                                               x 10                                       
 .                                                                                                                           ------- 
. . Number of sweets Ashar has in all                                                              3 0 
                                                                                                                             -------- 
 
Answer : Ashar has 30 sweets in all . 
 
 

            3. There are 7 trays . Each tray has 5 oranges. How many oranges are there in all ? 
 

    4.There are 9 baskets of apples. Each basket has 12 apples. How many apples are there in all ? 
 

            5. There are 8 shelves . Each shelves has 11 books . How many books are there in all ? 
 

    6.   Mom bought 6 trays of eggs . Each tray has 8 eggs. How many eggs did she buy in all ? 
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